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(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 35 gSaA 
 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 35 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
        All questions are compulsory.    
    (ii) iz'u Øekad 1 ls 35 rd oLrqfu"B iz'u gSaA izR;sd iz'u 1 vad dk gSA funsZ'kkuqlkj ç'uksa ds 

mÙkj nhft,A 
        Questions from 1 to 35 are objective type questions. Each question is of 1 

mark. Answer the questions as per instructions. 

SET : C 
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funsZ'k %funsZ'k %funsZ'k %funsZ'k % fn, x, izR;sd iz'u (1-18) esa lcls vf/kd mi;qDr fodYi pqfu, % 
Directions : Select the most appropriate option from those given below each question 

(1 to 18) : 

1. _.kkosf'kr oLrq esa gS % 1 

(A) U;wVªkWuksa dh vf/kdrk (B) bysDVªkWuksa dh vf/kdrk 

(C) bysDVªkWuksa dh deh (D) izksVkWuksa dh vf/kdrk 

A negatively charged body has in it : 

(A) Excess of Neutrons (B) Excess of Electrons 

(C) Deficiency of Electrons (D) Excess of Protons 

2. nks leku /kukosf'kr fcUnq&vkos'kksa] ftuesa izR;sd ij 1 µc dk vkos'k gS] dks 1 ehVj dh nwjh ij ok;q esa 
j[kk tkrk gSA budh fLFkfrt ÅtkZ gS % 1 

(A) 1 twy (B) 1 bysDVªkWu&oksYV 

(C) 9 × 10–3 twy (D) 'kwU; 

The electric potential energy of a system of two positive point charges of 1 µc 

each placed in air 1 metre a part is : 

(A) 1 Joule (B) 1 electron-volt 

(C) 9 × 10–3Joule (D) Zero 

3. /kkjk ?kuRo (j) rFkk fo|qr~ /kkjk (I ) esa lEcU/k gS % 1 

(A) j = VdIA (B) 
I

A
j =  

(C) 
A

I
j =  (D) j = IA 

The relation between current density (j) and electric current (I ) is : 

(A) j = VdIA (B) 
I

A
j =  

(C) 
A

I
j =  (D) j = IA 
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4. inkFkZ dk ÅtkZ cS.M fp= esa fn;k x;k gS] tgk¡ V la;ksth cS.M rFkk C pkyu cS.M gS % 1 

 

 

 

;s inkFkZ gSa % 
(A) pkyd  (B) v)Zpkyd 
(C) dqpkyd (D) mijksDr esa ls dksbZ ugha 
Energy band of substance shown in the figure where V is valence band and C 

is conduction band : 

 

 

 

 

Substance is : 

(A) Metal (B) Semiconductor 

(C) Insulator (D) None of the above 

5. tc p-n laf/k ij i'pfnf'kd ck;l vuqiz;qDr fd;k tkrk gS] rc ;g % 1 
(A) foHko jks/kd c<+krk gS  (B) cgqla[;d okgd /kkjk dks c<+k nsrk gS 
(C) foHko jks/kd dks de dj nsrk gS (D) mijksDr esa ls dksbZ ugha 
When a reverse biased is applied to a p-n junction, it : 

(A) Raises the potential barrier (B) Increases the majority carrier current 

(C) Lowers the potential barrier (D) None of the above 

6. gkbMªkstu ijek.kq dh izFke mÙksftr voLFkk esa bysDVªkWu dh dqy ÅtkZ yxHkx –3.4 eV gSA bl voLFkk 
esa bysDVªkWu dh fLFkfrt ÅtkZ gS % 1 

(A) –3.4 eV (B) 6.8 eV 

(C) –6.8 eV (D) –1.7 eV 
The total energy of an electron in the first excited state of the hydrogen atom is 

about –3.4 eV. Potential energy of the electron in this state is : 
(A) –3.4 eV (B) 6.8 eV 

(C) –6.8 eV (D) –1.7 eV 

C 

V

Eg > 3eV 

C 

V

Eg > 3eV 
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7. ,sls ukfHkd ftudh U;wVªkWu la[;k N leku gks ysfdu ijek.kq Øekad Z fHkUu gks] dgykrs gSa % 1 

(A) leHkkfjd (B) leU;wVªkWfud 
(C) leLFkkfud (D) mijksDr esa dksbZ ugha 
Nuclides with same neutron number N but different atomic number Z are 

called : 

(A) Isobars (B) Isotones 

(C) Isotopes (D) None of the above 

8. lu~ 1905 esa fdl oSKkfud us izdk'k fo|qr~ izHkko dh O;k[;k ds fy, oS|qr pqacdh; fofdj.k dk ,d 
ekSfyd :i ls u;k fp=.k izLrkfor fd;k \ 1 

(A) fefydu (B) vkbaLVkbu  
(C) jnjQksMZ (D) dkEIVu  
In 1905, which scientist proposed a radically new picture of electromagnetic 

radiation to explain photoelectric effect ? 
(A) Millikan (B) Einstein 

(C) Rutherford (D) Compton 

9. 100 V ds foHkokarj }kjk Rofjr fdlh bysDVªkWu ls lacaf/kr ns&czkWXyh rjaxnS?;Z gS % 1 

(A) .1127 nm (B) 1.127 nm 

(C) .127 nm (D) .1227 nm 

de-Broglie wavelength associated with an electron, accelerated through a 

potential difference of 100 Volt is : 
(A) .1127 nm (B) 1.127 nm 

(C) .127 nm (D) .1227 nm 

10. ;ax ds f}f>jh iz;ksx esa f>fj;ksa ds lery ls ijns dks nwj dj nsus ij fÝatksa dk okLrfod ikFkZD; % 1 

(A) vpj jgrk gS (B) c<+rk gS 
(C) ?kVrk gS (D) O;frdj.k iSVuZ xk;c gks tkrk gS 
In Young's double slit experiment, the screen is moved away from the plane of 

the slits, the actual separation of the Fringes : 
(A) remain constant (B) increases 

(C) decreases (D) interference pattern disappears 
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11. 60° dks.k okys fizTe dk ihys izdk'k ds fy;s U;wure fopyu dks.k 30° gSA bl fLFkfr esa vkiru dks.k 
dk eku gksxk % 1 

(A) 30°  (B) 45° 

(C) 60°  (D) 75° 

For yellow light incident on a prism of angle 60°, the angle of minimum 

deviation is 30°. The angle of incidence in this situation is : 

(A) 30°  (B) 45° 

(C) 60°  (D) 75° 

12. ^ejhfpdk* esa fdl ?kVuk dk mi;ksx gksrk gS \ 1 

(A) O;frdj.k (B) ijkorZu 
(C) fo{ksi.k (D) iw.kZ&vkUrfjd ijkorZu 
Which phenomena is used in "MIRAGE" ? 
(A) Interference (B) Reflection 

(C) Dispersion (D) Total Internal Reflection 

13. nks ysUl ftudh {kerk,¡ 8D rFkk –4D gSaA laidZ esa j[ks gSaA mudh la;qDr Qksdl&nwjh gS % 1 

(A) 50 lseh (B) –50 lseh 
(C) 25 lseh (D) –25 lseh 
Two lens of power 8D and –4D are placed in contact. Focal length of the 

combination will be : 
(A) 50 cm (B) –50 cm 

(C) 25 cm (D) –25 cm 

14. ,d dq.Myh ls c)pqEcdh; ¶yDl 1 lsd.M esa 5 oscj ls ?kVdj 2 oscj gks tkrk gSA dq.Myh esa 
izsfjr fo|qr okgd cy gS % 1 
(A) 3 oksYV (B) 30 oksYV 
(C) 300 oksYV (D) .3 oksYV 
The magnetic flux linked with a coil is decreased from 5 Weber to 2 Weber in    

1 second. The induced electromotive force in the coil is : 
(A) 3 Volt (B) 30 Volt 

(C) 300 Volt (D) .3 Volt 
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15. pqEcdh; {ks= esa j[ks ,d rkj ds ywi esa ls xqtjus okyk pqEcdh; ¶yDl fuHkZj ughaughaughaugha djrk gS \ 1 

(A) ywi ds {ks=Qy ij (B) {ks= dh rhozrk ij 
(C) {ks= ds lkis{k ywi ds vfHkfoU;kl ij (D) ywi dh vkÑfr ij 
The magnetic flux threading a wire loop placed in a magnetic field does not 

depend upon : 
(A) Area of the loop  

(B) Magnitude of the field 

(C) Orientation of the loop with respect to the field 

(D) Shape of the loop 

16. pqacdh; {ks= js[kk ds fdlh fcanq ij [khaph xbZ Li'kZjs[kk ml fcUnq ij ifj.kkeh fn'kk crkrh gS % 1 

(A) fo|qr cy F dh (B) fo|qr {ks= E dh 
(C) pqacdh; {ks= B dh (D) fo|qr~ /kkjk I dh 
The tangent to the field line at a given point represents the direction of the   

net  : 
(A) Electric Force (F) (B) Electric Field (E) 

(C) Magnetic Field (B) (D) Electric Current (I) 

17. fdlh py dq.Myh xSYosuksehVj dk vehVj esa :ikUrj.k fd;k tkrk gS % 1 

(A) lekUrj esa mPp izfrjks/k yxkus ls (B) lekUrj esa y?kq izfrjks/k yxkus ls 
(C) Js.kh esa mPp izfrjks/k yxkus ls (D) Js.kh esa y?kq izfrjks/k yxkus ls 
Moving coil galvanometer is converted into ammeter by : 
(A) Connecting high resistance in parallel 

(B) Connecting low resistance in parallel 

(C) Connecting high resistance in series 

(D) Connecting low resistance in series 

18. R vkse izfrjks/k okys /kkfRod rkj dks [khapdj mldh yEckbZ pkj xquh dj nsrs gSaA mldk u;k izfrjks/k 
gksxk %   1 

(A) 8R  (B) 4R 

(C) 12R  (D) 16R 

The length of a metallic wire of R ohm resistance is stretched four times its 

initial length. Its new resistance is : 
(A) 8R  (B) 4R 

(C) 12R  (D) 16R 
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funsZ'k % funsZ'k % funsZ'k % funsZ'k % ¼iz'u 19 ls 27½ mi;qDr mÙkj ls fjDr LFkkuksa dh iwfrZ dhft, % 

Direction : (Q. No. 19 to 27) Fill in the blanks with appropriate answer : 

19. oS|qr {ks= js[kk,¡ -------------- ls vkjaHk gksdj _.kkos'k ij lekIr gksrh gSaA 1 

Electric field lines start from …………… and end at negative charges. 

20. ,d egÙoiw.kZ jkf'k xfr'khyrk µ gS ftls izfr ,dkad fo|qr~ {ks= ds ------------ ds ifjek.k ds :i esa 
ifjHkkf"kr djrs gSaA   1 

An important quantity is the mobility µ defined as the magnitude of the 

…………… per unit electric field. 

21. ifjufydk ds Hkhrj gj fcanq ij ------------ v{k ds lekarj gksrk gSA 1 

The …………… inside solenoid becomes everywhere parallel to the axis. 

22. izdk'k iM+us ij lkSj lsy }kjk emf mRiUu gksuk] fuEufyf[kr rhu ewy izfØ;kvksa ds dkj.k gSa] ;s rhu 
izfØ;k,¡ gSa & tuu] izFkdu rFkk ------------ A 1 

The generation of emf by a solar cell, when light falls on, it is due to the 

following three basic processes : generation, separation and ………….. . 

23. -------------- esa Hkkjh ukfHkd VwVdj gYds ukfHkd curs gSaA 1 

In …………., heavy nucleus decays into lighter nucleus. 

24. Q ðksVku fo|qr~ ------------ gksrs gSaA   1 

Photons are electrically …………… . 

25. fdUgha nks ek/;eksa ds ;qxy ds fy,] vkiru dks.k dh T;k rFkk viorZu dks.k dh T;k dk vuqikr         
------------ gksrk gSA   1 

The ratio of the sine of the angle of incidence to the sine of angle of refraction 

is …………… . 

26. 1010− eh rjaxnS?;Z dh X-fdj.kksa] 6800Å rjaxnS?;Z ds izdk'k] rFkk 500 eh dh jsfM;ks rjaxksa ds fy;s  
------------ ¼HkkSfrd jkf'k½ dk eku leku gSA   1 

…………… (physical quantity) is same for X-rays of wavelength 1010− m, red 

light of wavelength 6800Å and radio waves of wavelength 500 m. 

27. vU;ksU; izsjd xq.kkad dk S I ek=d ------------ gSA  1 

SI unit of coefficient of mutual inductance is ……………. . 
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funsZ'k % funsZ'k % funsZ'k % funsZ'k % ¼iz'u 28 ls 35½ fuEufyf[kr ç'uksa ds mÙkj ,,,,dddd 'kCn/okD; esa nhft, % 
Direction : (Q. No. 28 to 35) Answer the following questions in one word/sentence : 

28. ,d v)Zpkyd esa bysDVªkWu dh lkanzrk 12105× lseh –3 rFkk dksVj dh 13108×  lseh –3 gS] v/kZpkyd 
p-Vkbi gksxk vFkok n-Vkbi \ 1 

In a semiconductor, the concentration of electrons is 12105× cm–3 and that of 

holes is 13108× cm–3. Is it a p-type or n-type semiconductor ? 

29. gkbMªkstu ijek.kq ds cksg~j ekWMy esa bysDVªkWu dh igyh d{kk dh f=T;k r0 gSA rhljh d{kk dh f=T;k 
fdruh gksxh \    
The radius of the first electron-orbit in hydrogen atom of Bohr model is r0. 

What will be the radius of the third orbit. 

30. leku vk;ke o leku rjaxnS?;Z dh nks izdk'k rjaxsa v/;kjksfir dh tkrh gS ifj.kkeh rjax dk vk;ke 
U;wure djus ds fy, rjaxksa ds chp dykUrj fdruk gksxk \ 1 

Two light waves of equal amplitude and wavelength are superimposed. What is 
the phase difference between the waves so that amplitude of the resultant 
wave will be minimum. 

31. D;k dkap esa izdk'k dh pky] izdk'k ds jax ij fuHkZj djrh gS \ ¼¼¼¼gk¡ gk¡ gk¡ gk¡ ;;;;k ughak ughak ughak ugha  ½½½½      1 

Is the speed of light in glass independent of the colour of light ?  (Yes or No) 

32. F Qksdl okys mÙky ysUl ls 2 F nwjh ij ,d oLrq j[kh x;h gSA ysUl ds nwljh vksj oLrq dk izfrfcac 
dgk¡ cusxk \  1 

An object is placed at a distance of 2 F from a convex lens of focal length F. 
Where should image of object formed on the other side of lens. 

33. i`Foh ds pqEcdh; Hkwe/; js[kk ¼fuj{k½ ij ueu dks.k dk eku fdruk gksrk gS \ 1 

What is the value of angle of dip at the Earth's magnetic equator ? 

34. nks vleku izfrjks/k Js.khØe esa tqM+s gSaA buds fy;s D;k leku gSaA 1 

Two unequal resistance are connected in series. What is same for them  ? 

35. /kkrqvksa esa bysDVªkWuksa ds JkfUrdky ij rki ds ?kVus dk D;k izHkko iM+rk gS \ 1 

What is the effect on relaxation time of electrons in metals, with decrease in 
temperature ? 

S 


